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TFE Creation of transfer functions or conversion to transfer function.

Creation:
SYS = TF(NUM,DEN) creates a continuous-time transfer function SYS with
numerator(s) NUM and denominator(s) DEN. The output SYS is a TF object.

STEP Step response of LTI models.

STEP(SYS,TFINAL) simulates the step response from t=0 to the
final time t=TFINAL. For discrete-time models with unspecified
sampling time, TFINAL is interpreted as the number of samples.

STEP(SYS.T) uses the user-supplied time vector T for simulation.

For discrete-time models, T should be of the form Ti:Ts:Tf

where Ts is the sample time. For continuous-time models,

T should be of the form Ti:dt:Tf where dt will become the sample
time for the discrete approximation to the continuous system. The
step input is always assumed to start at t=0 (regardless of Ti).

— FEEDBACK Feedback connection of two LTI models. u

SYS = FEEDBACK(SYS1,5YS2) computes an LTI model SYS for
the closed-loop feedback system
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T=0.05
The system response is too slow! Let’s speed it up by using feedback!

Gec =Kp + Ki/s Kd s
Kp=150; Ki=100; Kd=0.1

Open Loop Transfer Function (Plant):

Compensator Transfer function:
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